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feEA
T
T A w5 e [ qUiies : 70

T : Aoy % 15 frme wltenfemt #t wvgs g % forg Fuifia 1

Note : First . |
El;‘lar;, L 15 minutes are allotted for the candidates to read the question
er. A

LRI I L T T Ty G——
i) TOMTCHE weAl B 0 & wue g e
i) e % wrfies 3w e
iv) STEl 3Evas 8, Tt e S

Instruction :

1) A_H qu.estions are compulsory. Marks allotted to each question are
_given in the margin.

i) In numerical questions, give all the steps of calculation.
iiij Give relevant answers to the questions,

iv) Give chemical equations, wherever necessary.

. 38 W & yoIh @ug § 9R faken Re m ¥ wdt frbes T 3@ s I
&) Freft frer ¥ v quvd ek w@ §
)  focrg & o & G W
i) g % Fo A Fpld W
i) fremae % U A PR W

iv)  forcry o faemas G % Ul A vy w 1
@) KMnO, § Mn i S FE 2
i 'R i) 42
iii)  +4 )+ .
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M) [Co(NH,),Cl, |Cl & Co ® STHEHAI Tear

i) 2 ii) :3

i) 4 iv) ]
) @iﬂﬁmﬁz@qﬁmﬂmmﬁqmw%ﬁ

i) H,0, ¢ i)  CrO,Cl, T

iii)y Cl,gq | iv)  KMnO, gl J

g) A St seiore ) afiea el mem # hlala 4 03 oum

B 8
i)y  =rfefe f i)y p-EEgE A

ijii) S iv) 8= !
w) fu Rt 6 w0 @ ot @i 2 2
) frefima i) fref@ B,
i) faafm C iv) faefm D I
1. Four alternatives are given in cach part of this question. Sclect the

correct alternative and write it in your answer-book :
The colligative property of a solution depends upon

a)

i) the number of particles of solute

ii) the nature of particles of solute

iii) the nature of particles of solvent

iv) the nature of particles of both solute and solvent !
b) Oxidation number of Mn in KMnQ, is

i) Zero ii) +2

iii)  +4 : iv) +7 1
c) The coordination number of Co in [Co(NH, )4CL, |Cl is

i) 2 ii) 3

i) 4 iv) 6 ]
d) In Etard’s reaction, tolune is oxidised to benzaldehyde by

i, HQOQ ii] CrOZCl

iiij  Cl, iv)] KMnQO, - ]
e) Reaction of Benzene diazonium chloride with phenol in basic

medium gives

i) Diphenyl ether ii) p-hydroxy azobcnzenc

ii) Chlorobenzene iv)  Benzene 1

13000/1338 .
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f) Deficiency of which vitamin causes nightblindness ?
i) Vitamin A iij  Vitamin B,
iiiy  Vitamin C iv)  Vitamin D 1
2. %) et erm 6 OioRd qu1 deed % dra 3R H g il F76
aTgsn 3 aREd % @y fee s wwfad g 8 2 2
§) TEigEEe A 9Rmm wire e f e w5 el i T TR
A w1 a9 foaRguy 2
) IgEgEdeH qifiesl o mmﬁmmawﬂwmaﬁmﬁﬁﬁ
quATEu| 2
u)  AeRe 3 -3 e s sfie (Syl) # ety #
Ui hif 2
2 a) Explain the difference between molarity and molality of a solution.
How does a change in temperature influence their values ? 2
b) Discuss the method of preparation of potassium permanganate
from pyrolusite and write the structural formula of permanganate
ion. 2
c) Explain ionisation isomerism and linkage isomerism In
coordination compounds with example. 2
d)  Discuss the mechanism of unimolecular nucleophilic substitution
reaction (Sy1) in haloalkanes. 2
3. %) amad faew aen amalid fems @ 94 faema & e u3se g &
=TET Fifere) 59 fam = it 5w wie il 2
@) AT & fasidie i rafafa gusmsg) 2
M) %efem faema aw Bre #fedw g Aesaee aw Ho ¥ A w@s
T 2
9)  wEERge H gRewrfia Ffe qaun o @ w3 fasg fafa 2
3 a) Explain Raoult’s law for solutions containing non-volatile solute in
volatile solvent. Derive mathematical expression for this law. 2
b) Explain the mechanism of dehydration of ethanol. 2
c) Explzfin the difference between aldehydes and ketones by Fehling
solution and Schiff reagent. 5
d) Define carbohydrates and write the differences between glucose
and fructose. 2
13000/1338 [ Turn over
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4.

%)

)

4

TieTer e f® @ gfenfya Hif 0-6 g aRA (A G = 60) %
1oogaaﬁaﬁaﬁﬂaﬁw%aamrﬁmaﬁrﬁmlmmﬁm

o a)_[moﬁszgmol-lwmq;[iﬁm373*]5K%| 3
N A mma@m%%ﬁwaﬁmm'

S fram &1 39@ B au 3w g # e 3
ﬁmﬁmmﬁmmﬂ%ﬁmmiﬂwaﬁﬁﬁmiﬁ

fore v FRriE ) GuHTeTd AT FHHTT ScIH Hifs 3
)  Lu(OH), ¥ 3&N La(OH), 3 & 41 g1 8 ?

ii) Wﬂ%mﬁmﬁﬂaﬁmmtﬂqm%ﬁaﬁmﬁm
feoqofi ferRea) 1+2
| elevation constant. Calculate the boiling point of an
6 g of urea (molar mass = 60) In
lal elevation constant for water is

0-52 K kg mol™* and boiling point of water is 373-15 K. 3

the difference between an electrochemical cell and
plications. 3

Define mola
aqueous solution containing O-
100 g of water. The value of mo

Explain
electrolytic cell. State Kohlrausch’s law and write its ap

ty and order of a reaction. Derive the integrated

Define moleculari
3

rate equation for the rate constant of first order reaction.
i) Why is La{OH]); stronger base than Lu(OH); ?

Write a short note on the paramagnetic behaviour and
formation of coloured ions of transition elements. 1 +2

gmaama%%?mmﬁaﬁgmﬁ%-oﬁmﬁa%a
=it =1 &t iR
i) frferftad et % f¥o a0 Fo =hl o AR ;

Mg (solid) | Mg?*(0-1M) | Cu**(0- 001M)| Cu(solid)

fr2 . E%Cu® |Cu)=+0-34V

E°( Mg** |Mg)=-2-37V - 2 +2

frdt ARRFN ¥ I W A9 F o UME BT & P TS wew Hife dl
afufran 10 fre 4 20% QUi Bt B1 FRBEA & §0% quf B & W AT
gua 6 o SR -(REm # ¢ log 2 = 0-3010 @1 log 8 = 0-9031)1 + 3
i) [Cr(NH,)]** g 2, =% [Ni(CN),)?* wlergmashm 21
FarHRdl HEy g & YR T g9aRT|
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i) frefafea sywEEE A % [LU.P.A.C. 7 fafae
#)  K[Cr(H,0),(C,0,),I
§) [Pt CI(NO,)(NH,),] SO,
i) nﬁmww%?nmﬁmmﬁaaﬂhﬁﬁm
ii) ﬁﬁasﬁmvﬁmﬂmﬁeﬁwéﬁmﬁmaﬁml

s ? State two advantages of hydrogen-

2+ 2

2+ 2

i) What arc fuel cell
oxygen fuel cell over ordinary cell.

11) Calculate the e.m.f. of the following cell :
Mg (solid) | Mg?*(0-1M) | Ccu?*(0-001M)| Cu(solid)

Given : E%(Cu?* |Cu)=+0:34V

E°( Mg?* |Mg)=-2-37V 2+ 2

What is the effect of temperature on the rate of reaction ? A first
order reaction is 20% completed in 10 minutes. Calculate the time
taken for 80% completion of the reaction. { Given log 2 = 0-3010

and log 8 = 0:9031) 1+3

i) [Cr(NH,),)* is paramagnetic while [Ni(CN),]
diamagnetic. Explain on the basis of valance bond theory.

[U.P.A.C. names of the following coordination

2+ iS

ii) Write
compounds :
a)  K|Cr(H,0),(C,0,),]
b) - [Pt Cl(NOz](NH3]4] SO,
i) - What are nucleic acids ? Discuss the structure of DNA with

diagram. https://www.upboardoniine.com

ii) Describe the primary and secondary structures of proteins.
2+2

Wﬁmﬁmﬂmﬁﬁmwﬁml
ﬁﬁaﬁﬂqwméﬂ@ﬁmﬁ?ﬂamﬁmﬁmﬁm:

2+2

1+2+2
i) goa-fefen e

i) Re-seracE AR
e
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I BN R W — (3 TE wim ffa) I+1+1+1+,
Ve s A sifvlien e guteeres % 46 2 2
W) o Feiiee i st teamfes KON @ A 2 2
i) A A e e s @ 2 f 2
iv)  nRe FoRTse K fifEn tewrefers KOH @ @ 2 2
v tfue siss B sfifen ge den 1 sefafy A u @
Bl & 2
@) Frafafes w dfaw fromft fafe 142492
i) w0 % Revaa & wdETa ® w
i)  TEmR-dm sfufean
iii) fafermaa g
m P
) Brord sfets g s, s T gt TR 6
Tt g fafe 3
i) frafaflgs # oo Fa g B 2 (FEa wEEfE ade fafE)
3) et @ i and
9) T 8 qEATl 1+1
6. a) Explain the resonance effect in nucleophilic substitution reactions
of haloarenes. By giving the example of chlorobenzene, write short
note on the following : 1+2+2
i) Wurtz-Fittig reaction
ii) Friedel-Crafts reaction.
OR
What happens when — (write chemical cquat,ic;ns only)
1+1+1+1+1
i) Ethyl bromide reacts with sodium ethoxide ?
ii) Ethyl chloride reacts with alcoholic KCN ?
iijy ~ Chlorobenzene reacts with nitric acid ?
iv) n-butyl chloride reacts with alcoholic KOH ?
v) ' Ethyl bromide reacts with magnesium metal in the presence
of dry ether ?
12nnn /1338
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Write short notes on the following : 1+2+2
i) Preparation of ethanol from fermentation of sugar
ii) Reimer-Tiemann reaction
iii) Williamson’s synthesis.

OR
Write chemical equations for the preparation of primary,
secondary and tertiary alcohols from Grignard’s reagent. 3
How will you obtain the following ? (write chemical equations

b]-

i)

i)

only)
a) Picric acid from phenol
b) Methanol from ethanol. 1+ 1

7. w) Tafeafige w afim feaoft fafaa
i) Ffem sl
i)  TewEm-wiE Afufm

i) Uegid dga|

2+2+1

SO
fr=afafga = mﬁmaﬁﬁ?(mmﬁmm%ﬁw)

1+1+1+1+1

) wEhfew o A uiye WRe
i)  UHRE ¥ WA Ry
i)  GHifew e @ TEifent wUTS
I b S S UGS IR
v)  STEE R i 3 |
g) P @@ fuf fafe
' i) Hfsrae Afemmse dvew
i) &AM SEmEe s
i)  rfae tfle arfisean
3
e @ i Srduifian seiRse fRE YR w9 S R 2 d=iN
BN FeEe ® FafaRes § o fee yeR ofefde S8 2

2+2+1

2+1+1+1
i) w=I
i)y  wRE=E
iii)  ATggIE=IA|
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7. a) Write short notes on the following : ’ 2+2+1
i) Cannizzaro’s reaction
ii) Gattermann-Koch reaction

iii) Aldol condensation.
OR
How will you obtain the following ? (write chemical equations only)
1+1+1+1+1
i) Ethyl acctate from acetic acid
ii) Acetone hydrazone from acetonc
iii) Acetyl chloride from acetic acid
iv) Benzaldehyde from benzyl chloride

v) Benzoic acid from benzamide.
b) Write short notes on the following : ) 2+2+1
i) Gabriel phthalimide synthesis
ii) Hoffmann bromamide reaction
iiij  Carbylamine reaction.
OR

How is benzene diazonium chloride prepared from aniline ? How
will you convert benzene diazonium chloride into the following ?

2+1+1+1
1) Benzene

ii) Chlorobenzene
ii) Nitrobenzene.

347(GE)-2,58,000
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